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10.

ANSWER ALL QUESTIONS
PART=—A (10x2=20 marks)
What do you mean b;;'\snavengmg?
Define fire tube boiler'and water tube boiler.
Differgntiate the terms ‘mould’ and ‘core’.

What is'the dii;ferehce between ‘live’ and ‘dead’ Centre?

What is the-standard size and weight of a brick as per IS
code? ™

What are the comp;nsitions of cement?
Define shoulder of a road.

List out the factors affecting per capita consuﬁlption of
water.

State Ohm’s law.

List any two advantages of 3-phase system over 1-phase
system.
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PART—B (5x16=80 marks)

With the help of a neat sketch explain the (
working principle of a four stroke diesel
Engine. What are the merits and demerits of
four stroke engines?

Or

Describe the prineiple parts and functions of (
Cochran boiler with the aid of a neat sketch.

Explain the process of preparation of green (
sand mould with split pattern.

Or

Draw the blcék diagram of a lathe machine (
and explain the function of its parts.

What are the requirements of good building (
stone and state important varieties of Building
stones?..-

Or

(1) Discuss briefly the causes of failure of (
foundation.

(i) Explain the process of plywood (
manufacturing.

(iii) Brief the experimental method to (
determine the workability of concrete.
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With the aid of neat sketch, explain various
components of a railway track.

Or

() List the six important points to be
considered while selecting a site for
Construction of Dam.

(@) Describe with the help of a neat sketch
T-Beam and Slab Bridge.

With the aid of neat sketch, explain the
construction of DC generator. Also deduce its
emp equation,

Or’

Tn the circuit shown, determine the current

:thn\ough nthé ‘9ohm resistor and the total
curvent delivered by the battery. Use

Kirchhoff's laws.
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